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Solving Radical Equations Application Worksheet

1. A pendulum can be measured with the equation T = 271\/% where T is the time in seconds, G is the force in

gravity (10m/s®) and L is the length of the pendulum.
a) find the period (to the nearest hundredth of a second) if a pendulum is 0.9m long
b) find the period if the pendulum is 0.049 m long.
c) solve the equation for length L.

d) how long would the pendulum be if the period were exactly 1 s?

Solve the following applications
2. The difference between an integer and its square root is 12. What is the integer?
3. The sum of an integer and twice its square root is 24. What is the integer?

4. The sum of an integer and three times its square root is 40. Find the integer.

Used(h) = V2hfor#5-6
5. If a plane flies at 30,000 ft, how far away is the horizon?

6. Janine was looking out across the ocean from her hotel room on the beach. Her eyes were 250 ft above the
ground. She saw a ship on the horizon. Approximately how far was the ship from her?

When a car comes to a sudden stop, you can determine the skidding distance (in feet) for a given speed (in

miles per hour) using the formula s(x) = 2v5x where s is skidding distance and x is speed. Calculate the
skidding distance for the following speeds.

7.55mi/h 8. 65 mi/h 9. 75 mi/h 10. 40 mi/h



